Maths-3

Devanagari Numerals

Introduction and Exercises
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Pihu's grandmother was doing some calculations on the table. Pihu looked her

calculation but couldn't understand it, they seem to be some new digit to Pihu. She
asked her grandmother about them.

@ )
9.  Sugar 9IKg. 3% Rupees

Potato 3IKg. & o Rupees

Onion R Kg. Q¥ Rupees

Soap 9Pieces 9T, Rupees

Oil 9 Litter T % Rupees

Dal/ Pulses 9 RKg. 3< Rupees

Salt R Packet R0 Rupees

L Total : Rz o Rupees )

Grandmother said that these are also numerals, we learnt mathematics with
these numerals. Grandmother also showed Pihu a calendar with these numerals.

Pihu wanted to ask more about the numerals, but grandmother was busy for her
work. So, she told Pihu to asked more about them from her teacher.

Next day Pihu asked more about the numerals to her teacher in the class. Teacher
said—

“These are the numerals of Devanagari script.” These numerals are also used to
write numbers.

These digits are like 0, 1, 2, 3,4, 5,6, 7, 8, & 9 which are just as to write numbers.

In Devanagari digits these are writtenas o, 9, R, 3, 8, %, §, O c & &
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In order to write numbers we make use of numerals such as 0, 1, 2, 3...... These are
known as international numerals . We can also write numbers in the Devanagari
numerals. Letus see the numerals as they are written in both the scripts :

International numerals | 0 1 2 3 4 5 6 7 8 9

Devanagarinumerals | © 9 R 5) 3 % & Ol |E&

The following table has numbers written in figures and in words. Learn to
identify each number and read its name :

26 | G 51 | %9 76 | 9%
27 | 9 52 | 43 77 | 99
28 | Rz 53 | 43 78 | Bz
29 | € 54 | 43 79 | vg
30 | 30 55 | %Y 80 | <o
31 | 39 56 | 4& 81 | <9
32 | 3R 57 | ©9 82 | <X
33 | 33 58 | YT 83 | T3
34 | 3% 59 | Y€ 84 | ¥
35 [3%| U 60 | &o 85 | <¥
36 | 3% 61 | &9 86
37 | 39 62 | &R 87
38 | 3¢ | ST 63 | &3 88
39 | 3% 64 | &% 89
40 | ¥° 65 | &% 90
41 | 39 66 | && 91
42 | 3R 67 | 89| WS 92
43 | 83 68 | &t | ST 93
44 | 83 69 | && 94
45 | 8% 70 | 90 95
46 | 8% 71 | 99 96
47 | 89 72 | OR 97
48 | 8% | 3T 73 | 93 98
49 | % 74 | 9% 99
50 | £° 75 | O
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Fill in the blanks

R hundreds, ¥ tens, 3 Ones
% hundreds, 3 tens, 9 Ones
9 hundreds, o tens, € Ones
€ hundreds, 3 tens,, ¥ Ones

8 hundreds,¥ tens, 9 Ones

€ hundreds, € tens, € Ones

Read and Understand

One Ones Hundreds

One Tens Hundreds

One Hundreds Hundreds
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Write the following numbers in words

9 Two hundred and twenty one
&9t

V€

T 90
3oo
IR0

g

€9t

Encircle O the mentioned digit

Hundred’s digit  (0)9 9 Ten’s digit

One’s digit R O @ One’s digit

Ten’s digit ¢ @ ¢ Hundred’s digit
One’s digit R Ten’s digit

Hundred’s digit 7 & © Hundred’s digit

Ten’s digit 9 9 One’s digit




Maths-3

Write the expanded forms of the given numbers
I} =300+ €0+ 3

8%

£oY

O&&

b4

R. The expanded forms of some numbers are given. Write the number that you

getby adding them:

Yoo + Yo + ¢ Yoo + Yo + 9
too + Yo+ ¥ Q00 + §o
too + Yo + § g00 + to + 3
900 + R0 + R Yoo + 9

3oo+ o+ €& = oo+ 30+ § =
3. The teacher had written the place values of the digits in the given numbers on

cards and placed them next to the number, but some naughty children
changed the positions of some cards and erased some of the written place
values.
Fillin the erased place values and then rearrange, write the proper expanded
form:

2&9
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} Let us compare

In case of numbers, we say
7 is greater than 4- Written as 7 > 4

Rani is taller than Mangal

4 1s less than 7 Written as 4 <7

Mangal is smaller than Rani
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Consider another situation

In numbers R equals R which is written as X = X Raju is as tall as Rani

99% > 990
9R is greater than 3 One hundred sixteen is greater than one hundred ten
IE{E< RO9 €co < &£t

One hundred ninety six is Nine hundred eighty is
less than two hundred one less than nine hundred ninety nine

4 )
< Less than

> QGreater than

= Equals to
L q

< Exercise >

9.Compare the numbers and put the appropriate sign <, > or = in the given boxes.

¢ 3 80 R0 ER 23

29 R9 &9 &o €€
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R .Write the given numbers in a decreasing (descending) order .

T, 33,
90,

93E,

R0E,

R0o0,

RE
£e)
&9

€9

g00

3. Arrange the given numbers in an increasing (ascending) order.

8Y,
REE,
399,
30€,

900 (Jele}

)

39
REE

949
Yoo

3oo

. Write the next three numbers as shown.

9IRR 9IRI IRE RY

RS IRT

IRE 930

89t

&&RY

293

TTT

%. Write the preceding three numbers to the given number as shown.

0% 90%

903 90%

3RY

R09

€89

Yoo
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Let us make numbers

Ifwe are given two digits 9 and 3, we could make two numbers using these :
93 and 39
From 9and %, the numbers we getare :

9% and %9

Similarly,if X, and & are given, we could get & numbers

RTY, R, ¥RT, TR, TR, TRY

Now take nine cards with digits 9 to € written on them.

Pick any two cards and make the possible two digit numbers (you would get only
two). Let your friends try too.

Now take 3 cards at a time and make the different numbers using these. See who
made the maximum numbers?

Learn by doing

Make numbers using the given digits.

In each pair that you have formed, encircle the number which is greater.

Make numbers using the three given digits
(%) 4,

) 2,

(3) o,

(8) %,

(%) 9, o

From the numbers which you formed, encircle the smallest number.
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} How to Add?

(9) Addition of 9% and (R) Addition of ¢ and 9=

_|_

RY
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How many are left? How do I take
away % from R
On subtracting Y from 8

8 3

R Y Oh, ho! I can
open one bundle

%o Tt
+ 9% + 9y

You can use bundles and match sticks to solve the given sums.

Fill in the blanks
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You have solved the sums of addition and subtraction in your book. Now you
know that we can use Devnagari script also to write the numbers. It is interesting that

the process of solving these question not change when we use these numerals.

} Read and Understand

Subtract 99 from T8t
T8 &
-909

Q

Hence, T8t - R99 = &3R

} Now Subtract

9. R¥¥ from 39Y R. 9% from &Y

3.303 from €3¢ 8. §o¥ from &Y

Y. ¢¢& from cO& &. ¢ from 9tz
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} Add the given numbers

(9) 8% and 93¢ (Q) R09 and oY

(3) 393 and 9&3 (8) &%9 and %3

() 30% and Q99 (&) 93 and ¥&%&
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} Let us Subtract some more

99% from oo 3& from 90Y% 30% from §oo

Yo from 803 9¢ 8 from% 3 33& from zo¥

3zofrom Yoo RYY from ¥90

Rt from ¢oY 899 from oo

Take any 3 digits and make two numbers. Subtract the smaller from the greater
number and show to your friends.
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9. Inacricket match Basant made %% runs, Rahul made 3z runs and Sunil made %%
runs. How many total runs were made in all?

. Abackyard has 9R0 roses, 900 mogra and 9§ © jasmine. How many flowers are
there in the backyard.

. Abus has Y0 seats. &3 people travelled in the bus. How many travelers didn't got
the seat?

. Government Primary School Bhursapar has 30 students. If 9&& of them are
girls. Then calculate the number of boys in the school.

. Pinky, Tinku and Jagat were playing a throwing game of the ball without

dropping it. Pinky throws %< times, Tinku throws & € times and Jagat throws R

times without dropping it . How many times they all together throw the ball
without dropping it.

Harish took V9% rupees to market. He bought glasses for T rupees. How

much money does he have now?

Sunil took 9& € custard apple to the market. He sold R3§& custard apple. How

many custard apple were left with him?

Arthi's story book has 93% pages. She has read ¥R pages. How many more
pages she has to read to finish the book?

T,0 passengers travelled in the bus. ¥R passengers got the seats. Tell how many

passengers didn't got the seat?

. Anita's father gave 339 rupees to Anita. He still has % rupees with him.

How much money her father had in the beginning.
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Hina and Pakhi were playing. Some hens were playing nearby. Some hens come
near verandah. Both of them started counting one, two, three seven. Hina shouted
loudly — “Seven hens”. Hina's uncle were listening to them and he asked Hina and
Pakhi — “Tell now many legs the hens have in total?”” Pakhi replied instantly —
“fourteen”. Hina asked “how? Let me know”. She counted and said fourteen.

Hina's uncle asked them to tell the way they calculated the legs. Hina told she

added two seven times. This way she got 9% legs of O hens.
Then, Pakhi told she multiplied R x 9 and got 9% legs.
Pakhi’sway : Rx 9= 9%

Hina's way : RERI+TRI+R+RI+R +R=9%¢
Both of them had their own way and both of them got 9% legs we can say R + R+ R+
RERIFTRIFR=Ix9=9%

R addedseventimes=3< x9
Now tell :

G+t g=x

This way we can say that

multiplication is repeated addition of numbers.
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Understand the table given below and write the tables of ¥, %, § and 9

Tableof R Add Tableof3 Tableof ¥ Tableoft Tableof & Tableof 9

+ 9 3
— &
— g
— R
—_—s 9T
— 9
— %
.V

R0 + 90— 5 30

+ 9
+ R——
+

+

+
+ §—

+ 90— 5

Make the tables of 3 and above in your copy. After that complete the multiplication

list made below.

Complete the Table

9 ] 3
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< Exercise >

9. Some numbers are written below in the form of being added again and again. Write

itin the form of multiplication of two numbers.

(9)3+3+3+3 =3x8 (R)E+E&+E&+§

B y+y+v+v+y=. D)+ +8+8+8+8+58=
(4) ¢ =veve. (§) o+ 0+ 0

. Write the multiplication given below in the form of repeated addition of

anumber.

(9) € x8 =€+E+€+¢ (R) 90 x 9
(3) © x¥g (8) 9 x ¢
() 9% = 9 (&) ox 3

Q

R+ R

R+R+R

R+R I+

R+++ R+

R+RFI I+ R+ R

R+RFRFRFRFR4R

R+R+R++IF IR

R+RI+IFRHARFIFIFR4R

R+R+RF+IFRHFR+ R+ R+
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What are Multiplicand, Multiplier and Product?

Let us understand-

A carpenter makes 3 cots in one day.

In 9 days, he can make 9 cots.

You know that we can write this as
3 X9 =39
When we write an example related to multiplication in such a manner, it is called
amultipliaction fact.
Thus 3 X9 =9 isamultiplication fact

Here 3 is called amultiplicand
9 is called a multiplier and
R9 iscalledastheir product

Now write the multiplicand, multiplier and product in each of these multiplication
facts.

RX =90 Multiplicand Multiplier

£ X g =t% Multiplicand Product

T X T=¢§"% Multiplier......... Multiplicand

In the following multiplication facts, write what the encircled number is a

multiplicand or a multiplier or a product.
In ¢x®) = Ro 8 1s amultiplier

1sa

1sa

1sa
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} Who was holding which of these balloons?

Match with a line

I have encircled
the
multiplicand

I have encircled I have encircled
the multiplier the product

Product

Multiplicand Multiplier
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Let us do some more sums

8 ¢

X9

X9

v g
X & X &

Till now you have done multiplication of a two digit, number by a single digit
number. Let us do a multiplication involving a three digit number and a single digit

number

Letus understand this by an example - Multiply 89 by
R8I
X

B S

Multiply 9 in the units place with ]

9 X =R units

Write Rinthe unit’s place.

Multiply 8 inthe ten's place with ]
¢ XX =rctens

write T in the ten’s place.

Now Multiply R of the hundred’s place with ]

R X R = ¥ hundreds
Write this in the hundred’s place.
Thus, we get R8I X R =38R
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Now try some more such sums

Think of any one number & Think of any one number

Now double it. & X =9 Now doubleiit.

Now multiply this by five
Now multiply thisby five 9% ¢ = §o

What you got the number. What you got the number.

Divide itby 90 o+ 90 = § Divide it by 90

Was the number you got the same as the number,
you had initially thought of?
Now take more numbers and do the same.
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Exercise

Ifa Kabaddi team has 9 players, then 9% such teams will have how many players?

A house has R% goats. How many legs they have in all?

A prayer is going in a school. If one row has 90 kids. Then how many kids are

there in % rows.

If a acre of the farm produces 3% bags of wheat. Then how many bags of wheat

will Y acres of the farm produces?

3 Vehicles went to the barat, if each vehicle has R barati. Then how many people
went to the barat?
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Varsha saw some flowers in her backyard and thought of making bouquet. She
picked some flowers from backyard. She placed the flowers in three glasses filled with
water. Varsha had 12 flowers. She equals distributed flowers in all the glasses. She
placed one flower in each glass and was left with few flowers. She again placed one

more flower in each glass. She again placed the remaining flowers one by one in each

glass. This way she made the bouquet.

Now you tell how many flowers are there in each glass?

} Let's see

12-4=9

We have to divide 12 pabbles into four groups. For this take twelve pebbles.
Make four circles on the ground. Place one pebble in each circle.

@ © © &

This means we have divided four pabbles and 8 pabbles are remaining. Now
place one more pebble in each circle.

o (o o ¢o

We have four more pabbles. Place again one by one pebbles in each circle.

@29 (@09 (o9 (o9

This way we divided 12 into 4 equal parts and each part had 3 pabbles.
Therefore, 12 +4=3. Itsread “Twelve divided by four equals three.”
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Now you too make circles, collect stones and do the following divisions.
£+ 3= R g+ 3=
8. IRT Y=
9§ ~ =
R~&=

RI+~ V9=

Which of these questions took a longer time for you to solve? You saw that we can

divide things by making circles or drawings. But it takes a longer time.

} Now Practise

9. R+ 9
Solution: 9

K95 RT
- g

O
Dividend = Rt Dividend = Dividend =
Divisor = 9 Divisor = Divisor

Quotient = ¥ Quotient = Divisor =

Y&+ Y. Yo=Y &. 9§ + 3
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You have seen how to divide by saying tables. Can you do all divisions using this
method? Letusdivide T8 x\9 andsee.

Letus say the table of'\9
Seven ones are seven

Seven twos are

Seven threes are

Seven tens are seventy.

We have not managed to reach 84 at all and we don’t know the tables beyond
tens.

Solve and write the dividend, divisor and quotient.

3; 30 Q;XX k9;k9k9 8;c8
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Let us see

First we divide the hundred’s digit.

Jtwosare &.
In the quotient we write ]

Write & below & and subtract.

Now, we take down 3 of the ten’s place,
So we write 91in the quotient

Write 3 below 3 and subtract.

Evennow we have £ left with us.

So we take down €
3threesare £

Write 3 in the quotient
Writeabelow € and subtract

Thus we get R13 as the quotient.
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Complete these

(5

/s
&

Fill in the blanks
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A tractor has &t bags of urea. If ¥ labourers helped to unload equal number of

bags. How many bags did each labour unload?

Today is sonam’s birthday. She brought R¥X chocolate to distribute. If each

child get R chocolate. How many children are there in sonam’s school.

If one person wants to divide %<z rupees equally among his ¥ daughters. How

much will one daughter get?

Nainaread abook of ©o pagesin 90 days. How many pages she read in one day?

Inafarm € flower bed are made. If €oo plants are to be planted. How many

plant will be there in each flower bed.
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